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Periodic Table Basics

Step 1: Complete the Periodic Table Basics Chart. Your chart will include the element's:

(a)
(b)
(c)
(d)
(e)
Step 2:

atomic number

name

atomic mass

number of protons, neutrons, and electrons

Lewis diagram

Shade the upper rectangle for each element. Elements in the same column should be shaded

with the same colour.

Step 3: Answer the following questions.

1.

What is meant by the following statement:
An ion has a complete outer shell.
An ion is an atom that has gained or lost electrons in order to have a full outer shell and by

doing so has become either negatively or positively charged.

Do all atoms require the same number of electrons to complete their outermost shell? Explain.
No - The first shell only holds 2 electrons, shells 2 and 3 hold 8 electrons each so it doesn't

take the same number of electrons to fill them even if elements are in the same group/family.

Which three elements on your chart have a complete outer shell? Give the name and symbol for
each.

(a) Helium (He) (b) neon (Ne) (c) argon (Ar)

What do you notice about the location of the elements in question # 3?

They are all in Group 8, Noble Gas family

Which elements have only one electron in its outermost shell?

H, Li, Na



